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General Instructions / lkekU; funsZ’k % 
 1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, Faculty and 

 Name of the Subject on the OMR  Answer Sheet in the space Provided. Put Your Full Signature 

 on the OMR Answer Sheet in the  space Provided. 

vki viuk uke] jkSy dksM] vuqØekad] iath;u la[;k] ijh{kk dh frfFk] ikyh] 
 foHkkx rFkk fo"k; dk uke OMR mÙkj i=d esa nh xbZ txg ij fy[ksaA vki 
 viuk iwjk gLrk{kj OMR mÙkj i=d esa nh xbZ txg ij djsaA  

2. There are 40 Multiple Choice Questions in all. 

dqy 40 cgq&fodYih; ç’u gSaA 
3. All questions are Compulsory. Each question carries 1 mark. 

 lHkh ç’u vfuok;Z gSaA çR;sd ç’u 1 vad dk gSA 
 4-Four Options are given for each question. Choose the most suitable option and indicate it by 

 blackening the appropriate circle [   ] in the OMR Answer Sheet given separately. Use only 

 Blue/Black Ball-Point Pen. The use of Pencil is not allowed. 

 çR;sd ç’u esa pkj fodYi fn;s x;s gSaA buesa ls lcls mi;qDr fodYi pqudj 
 mls vyx ls fn;s gq, OMR mÙkj i=d ij lgh xksys dks dkyk dj [  ] mÙkj dks 
 lwfpr dhft;sA uhyk ;k dkyk ckWy&IokbaV dye dk gh ç;ksx djsaA  isafly dk 
 ç;ksx oftZr gSA 
 5-Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. You 

 are allowed to take the question paper with you. 

 ijh{kk Hkou NksM+us ls igys OMR mÙkj i=d oh{kd dks ykSVk nhft;sA ç’u&i= 
 vki vius lkFk ys tk ldrs gSaA  
 

 

 

    
    
    
    
    
    
    
    
    
    

    
    

Adhere to the instructions above very carefully otherwise your OMR Answer 

Sheet will be invalid and will not be evaluated. 
 Åij of.kZr funsZ’kksa dk /;kuiwoZd ikyu dhft, vU;Fkk vkidk 
mÙkj i=d vekU; gksxk vkSj mldh tk¡p ugha dh tk;sxhA  

Full Marks : 40 
Time – 1 hr 



 

 

SET – I   

(CHEMISTRY) 
 
 

1 Molar Mass of  H2O is        

(1) 18   (2) 20  (3) 8   (4) None of these 

 H2O dk eksyj æO;eku gS 
(1) 18    (2) 20  (3) 8   (4) buesa ls dksbZ ugha 

2 Relative Charge of electron is   

(1) + 1  (2) – 1 (3) 0  (4) None of these 

 bysDVªkWu dk lkis{k vkos’k gS 
(1) + 1  (2) – 1 (3) 0  (4) buesa ls dksbZ ugha 

3 One mole of Potassium Contains 

(1) 6.022x10
22

 atoms  (2) 6.022x10
23

 atoms  

(3) 6.022x10
24

 atoms  (4) None of these 

 iksVSf’k;e ds ,d eksy esa gksrs gSa 
(1) 6.022x10

22
 ijek.kq  (2) 6.022x10

23
 ijek.kq  

(3) 6.022x10
24

 ijek.kq  (4) buesa ls dksbZ ugha 
4 Number of electrons in second shell of Be atom are  

(1)  1  (2)  2  (3)  3  (4) None of these 

 Be ijek.kq ds f}rh; dks’k esa bysDVªkWu dk la[;k gS 
(1)  1   (2)  2  (3)  3  (4) buesa ls dksbZ ugha 

5 Group number of Li is  

(1)  2   (2)  1  (3)  3  (4) None of these 

 Li  dk oxZ la[;k gS 
(1)  2   (2)  1  (3)  3  (4) buesa ls dksbZ ugha 

6 
 

Mg is 

(1) S-block element   (2) d-block element   

(3) p-block element   (4) None of these 

 Mg gS 
(1) S- CykWd rRo   (2) d- CykWd rRo  

(3) p- CykWd rRo   (4) buesa ls dksbZ ugha 
7 Number of neutrons present in the nucleus  13

6
C      are  

(1)  6  (2)  7  (3)  13  (4) None of these 

  

ukfHkd 13
6

C  esa mifLFkr U;wVªkWuksa dk la[;k gS 

(1)  6  (2)  7  (3)  13  (4) buesa ls dksbZ ugha 
 
 



    
8 An element belonging to group 13 to 18 are  

¼1) P-block elements  (2) S-block elements   

(3) d-block elements  (4) None of these 

 oxZ 13 ls ysdj 18 rd ds rRo gS 
(1) P- CykWd rRo   (2) S- CykWd rRo  

(3) d- CykWd rRo   (4) buesa ls dksbZ ugha 
9 The element with atomic number 15 belongs to which period of the long form of the 

periodic table? 

(1)  2  (2)  3  (3)  4  (4) None of these 

 rRo ftldh ijek.kq la[;k 15 gS vkorZ lkj.kh ds nh?kZ :i ds fdl 
vkoÙkZ esa j[kk x;k gS\ 
 (1)  2  (2)  3  (3)  4  (4) buesa ls dksbZ ugha 

10 The molecular geometry of  Be cl2 is  

¼1) Trigonal planar   (2) Linear    

(3) Tetrahedral    (4) None of these 

 Be cl2 dk vkf.od T;kfefr gS 
(1)  f=dks.kh; leryh  (2)  jS[kh;  

(3)  prq"Qydh;   (4) buesa ls dksbZ ugha 
11 Bond order of H2 molecule is  

(1)  2  (2)  1  (3)  0  (4) None of these 

 H2 v.kq dk vkca/k dksfV gS 
(1)  2  (2)  1  (3)  0  (4) buesa ls dksbZ ugha 

12 The hybridisation of Oxygen in H2O is  

¼1) SP
2
 (2) SP

3
  (3) SP (4) None of these  

 H2O esa vkWDlhtu dk çladj.k gSA 
¼1) SP

2
 (2) SP

3
  (3) SP (4) buesa ls dksbZ ugha 

13 The number of bonding pairs of electrons of SO2 is  

(1)  1  (2)  2  (3)  3  (4) None of these 

 
 

 SO2 ds bysDVªkWuks ds vkca/kh ;qXeksa dh la[;k gS 
(1)  1  (2)  2  (3)  3  (4) buesa ls dksbZ ugha 

14 Boyle’s law is mathematically written as  

¼1) V = Constant x T  (2) P = Constant  x   

(3)          = Constant  (4) None of these  

 

 ckW;y dk fu;e xf.krh; :i esa fy[kk tkrk gS 
¼1) V = fLFkjkad x T  (2) P = fLFkjkad  x   

 

(3)          = fLFkjkad   (4) buesa ls dksbZ ugha 
 

 1  

 V  P 

T 

 P 

T 

 1  

 V 



 
15 When Pressure is expressed in atmospheres and volume in litres. One mole of gas 

under S.T.P. Conditions (at 273 K and 1 atmosphere pressure) occupies 22.4L, then 

value of R is  

¼1) 1.0821 L atm k 
-1

 mol
-1

   (2) 0.0821 L atm k 
-1

 mol 
-1

  

(3) 2.0821 L  atm k 
-1

 mol
-1

  (4) None of these  

 tc nkc ok;qe.My esa vkSj vk;ru yhVj esa O;Dr fd;k tkrk gSA 1 
eksy xSl S.T.P. ij ¼273K vkSj 1 ok;qe.My nkc ij½ 22-4 L vk;ru 
?ksjrh gS rks R dk eku gS 
¼1) 1.0821 L atm k 

-1
 mol

-1
   (2) 0.0821 L atm k 

-1
 mol 

-1
  

(3) 2.0821 L  atm k 
-1

 mol
-1

  (4) buesa ls dksbZ ugha 
16 The thermochemical reaction,   

 CH4 (g) + 2 O2 (g)          CO2 (g) + 2H2O (l) ; 

     c H = & 890.3 KJ mol 
-1

  

is an example of   

(1) enthalpy of atomization  ¼2½ enthalpy of Combustion    

(3) enthalpy of Solution   (4) None of these  

 m"ek jklk;fud lehdj.k]  
 CH4 (g) + 2 O2 (g)           CO2 (g) + 2H2O (l) ; 

     c H = & 890.3 KJ mol 
-1 

,d mnkgj.k gS 
(1)  d.ku ,UFkSYih dk  (2)  ngu ,UFkSYih dk  

(3)  foy;u ,UFkSYih dk  (4) buesa ls dksbZ ugha 
 

17 In change of state, Hg (l)   Hg (s)   sign of entropy change is 

¼1)   S = + Ve   (2)  S = - Ve  

(3)    S = O    (4) None of these  

 voLFkk ifjorZu] Hg (l)   Hg (s)   esa ,.VªkWih ifjorZu dk fpUg gS 
 

¼1)   S = + Ve   (2)  S = - Ve  

(3)   S = O    (4) buesa ls dksbZ ugha 
 

18 If   G    < O then 

¼1) The process is spontaneous   (2) The process is in equilibrium 

(3) The process is non-spontaneous  (4) None of these  
 

 ;fn     G    < O gks rks  
(1)  çØe Lor% çofrZr gksxk  (2)  çØe lkE; esa gksxk  

(3)  çØe vLor% çofrZr gksxk (4) buesa ls dksbZ ugha 
 

19 The value of pH of 0.1 M NaOH Solution is equal to  

¼1) 13  (2) 1.2   (3) 5.0  (4) None of these  
 

 0.1 M Na OH foy;u dk pH dk eku gksrk gS 
 



¼1) 13  (2) 1.2   (3) 5.0  (4) buesa ls dksbZ ugha 
 

20 For a reversible reaction,  

 A + B     �  C + D 

the equilibrium Constant, Kc is equal to  
 

¼1)     (2)  

   

(3)      (4) None of these  

 

 

 mRØe.kh; vfHkfØ;k] A + B  �  C + D ds fy, lkE; fLFkjkad] Kc gS 
 
¼1)     (2)  

   

(3)      (4) buesa ls dksbZ ugha 
 

21 Species, OH 
&
  is  

¼1) Lewis acid  (2) Lewis base (3) Both of them (4) None of these  

 

 Lih’kht OH 
&
   gS 

(1)  ywbl vEy (2)  ywbl {kkjd (3)  nksuksa gh  (4) buesa ls dksbZ ugha 
22 Oxidation is  

¼1) Loss of electrons by any species 

(2) Gain of electrons by any species  

(3) Both of them 

(4) None of these  

 vkWDlhdj.k gS 
(1)  fdlh Lih’kht }kjk bysDVªkWu dk fu"dklu   

(2)  fdlh Lih’kht }kjk bysDVªkWu dh çkfIr 

(3)  nksuksa gh 
(4) buesa ls dksbZ ugha 

23  

3 Mg (s) + N2 (g)   Mg3N2 (s) is  

¼1) Decomposition  reaction  (2) Combination reaction   

(3) Displacement reaction   (4) None of these  

  

3 Mg (s) + N2 (g)   Mg3N2 (s)  gS 
 (1)  vi?kVu vfHkfØ;k  (2)  ;ksx vfHkfØ;k 
(3)  foLFkkiu vfHkfØ;k  (4) buesa ls dksbZ ugha 
 

24 
 

In the reaction, SO2 + 2HNO3   H2SO4 + 2NO2 

¼1)  HNO3  is an Oxidising agent  (2) SO2  is an Oxidising agent   

(3) Both of them    (4) None of these  

[A] [B] 

[C] [D] 

[C] [D] 

[A] [B] 

[A] [C] 

[B] [D] 

[A] [C] 

[B] [D] 

[A] [B] 

[C] [D] 

[C] [D] 

[A] [B] 



 vfHkfØ;k] SO2 + 2HNO3   H2SO4 + 2NO2 
(1) HNO3 ,d vkWDlhdkjd gS  (2)  SO2 ,d vkWDlhdkjd gS   

(3)  nksuksa gh    (4) buesa ls dksbZ ugha 
25 Protium is 

¼1)  
2

1
H      (2) 

1

1
H  

                        

(3)  
3

1
H      (4) None of these  

               

 çksfV;e gS 

¼1)  
2

1
H      (2) 

1

1
H  

   

(3)  
3

1
H      (4) buesa ls dksbZ ugha 

               
26 In the reaction,  

Pbs (s) + 4H2O2 (aq)  ‘X’ + 4H2O (aq)  ‘X’ is 

¼1) PbSO4    (2) PbSO2  

(3) Pb    (4) None of these  

 

 

  

vfHkfØ;k] Pbs (s) + 4H2O2 (aq)  ‘X’ + 4H2O (aq) esa  ‘X’ gS 
 

¼1) PbSO4  (2) PbSO2  (3) Pb  (4) buesa ls dksbZ ugha 
27- In the reaction,  

 Ca(OH)2 + CO2   ‘X’ + H2O ,    ‘X’ is 

¼1) CaCO3    (2) CaO  

(3) CaO2    (4) None of these 

 vfHkfØ;k] Ca(OH)2 + CO2   ‘X’ + H2O ,  esa  ‘X’ gS 
¼1) CaCO3    (2) CaO  

(3) CaO2    (4) buesa ls dksbZ ugha 
28- Lithium is  

¼1) an alkali metal   (2) an alkaline earth metal  

(3) a transition metal  (4) None of these  

 yhfFk;e gS 
¼1) ,d {kkj /kkrq   (2) ,d {kkjh; e`nk /kkrq  

(3) ,d laØe.k /kkrq  (4) buesa ls dksbZ ugha 
29- The first member of group  13 is  

¼1) N  (2) O  (3) B  (4) None of these  

 oxZ 13 dk çFke lnL; gS 



¼1) N  (2) O  (3) B  (4) buesa ls dksbZ ugha 
30-  H3BO3 is  

¼1) Kernite  (2) borax (3) Orthoboric acid  (4) None of these  

 H3BO3  gS 
¼1) djukbV  (2) cksjsDl (3) vkFkksZcksfjd vEy (4) buesa ls dksbZ ugha 
 

31- CO  is  

¼1) a neutral Oxide   (2) a basic Oxide 

(3) an acidic Oxide   (4) None of these  

 CO  gS 
¼1)  ,d mnklhu vkWDlkbM (2) ,d {kkjh; vkWDlkbM  

(3) ,d vEyh; vkWDlkbM (4) buesa ls dksbZ ugha 
32-         is  

                                                                                                                                                          

¼1) Benzene  (2) Aniline (3) Naphthalene (4) None of these  
 

     gS 
 
 

¼1) csUthu  (2) ,uhyhu   (3) usIFkSyhu (4) buesa ls dksbZ ugha 
33- The IUPAC group Suffix of alcohols is   

¼1)  - al  (2) - ol (3) - one  (4) None of these  

 ,sYdksgkWy dk IUPAC lewg vuqyXu gS 

¼1)  - ,y  (2) - vkWy (3) - vksu  (4) buesa ls dksbZ ugha 

34- CH3 CH2 CH2 CH2 CH3 is  

¼1) Isopentane (2) Pentane (3) Neopentane (4) None of these  

 CH3 CH2 CH2 CH2 CH3 gS 

¼1)  vkblksisUVsu (2) isUVsu (3) uhvksisUVsu (4) buesa ls dksbZ ugha 

35- Nucleophile   is  

¼1) HS
&
  (2) BF3 (3)  +   (4) None of these 

                      NO2    

 ukfHkdLusgh gS 

¼1) HS
&
  (2) BF3 (3)  +   (4) buesa ls dksbZ ugha 

 

                      NO2 

 
 
 

36- 

 

 

IUPAC name of  CH3 – C         CH2 – CH3 

 

¼1) 2 – Methyl – butan -2 - 01  (2) 2 – Methyl – butan -1 - 01 

 

 

CH3 

 

OH 

 



(3) 3 – Methyl – butan -1 - 01  (4) None of these  

  

 

 CH3 – C         CH2 – CH3 dk vkbZ0;w0ih0,0lh0uke gS 
 

 

¼1)  2&esfFky C;wVsu &2 &vkWy  (2) 2&esfFky C;wVsu &1 &vkWy  

(3) 3&esfFky C;wVsu &1 &vkWy (4) buesa ls dksbZ ugha 
37- Sodium Salt of which acid will be needed for the preparation of Propane? 

¼1) Propanoic acid   (2) Ethanoic acid 

(3) Butanoic acid   (4) None of these  

 çksisu ds fojpu ds fy, fdl vEy ds lksfM;e yo.k dh vko’;drk 
gksxh\ 

¼1)  çksisukWbd vEy  (2) ,sFksukWbd vEy  

(3) C;wVsukWbd vEy  (4) buesa ls dksbZ ugha 
38- Ozonolysis of Propene gives  

¼1) Propan-2-one   (2) Methanal 

(3) Ethanal and Methanal   (4) None of these  

   çksihu dk vkstksuh vi?kVu nsrk gS 
¼1)  çksisu &2& vksu  (2) esFksuy  

(3) ,Fksuy rFkk esFksuy  (4) buesa ls dksbZ ugha 
 

39- Which is Source of Pollutant, micro – organism ? 

¼1) Industrics and Chemical Factories (2) Water used for Cooling in industry 

(3) Domestic Sewage   (4) None of these  
 

 çnw"kd] lw{e tho dk L=ksr dkSu gS\ 

¼1)  m|ksx rFkk jlk;u dkj[kkus  

(2) vkS|ksfxd dkj[kkuksa }kjk BaMs ikuh dk mi;ksx  

(3) ?kjsyw lhojst 
(4) buesa ls dksbZ ugha 

40- The Particulate Pollutant, dust is present in  

¼1) Troposphere    (2) Stratosphere  

(3) Both of them   (4) None of these  

 

 df.kdh; çnw"kd] /kwy mifLFkr gksrs gSa 
¼1)  {kksHkeaMy esa   (2) lerkieaMy esa  

(3) nksuksa gh esa   (4) buesa ls dksbZ ugha 
     

 

 

 

 

CH3 

 

OH 

 



 

 

Answer of Model – Question, SET – I 

CHEMISTRY, CLASS- XI
th

, 2020 

  

Question No. Ans. No Question No. Ans. No 

1- 1 21- 2 

2- 2 22- 1 

3- 2 23- 2 

4- 2 24- 1 

5- 2 25- 2 

6- 1 26- 1 

7- 2 27- 1 

8- 1 28- 1 

9- 2 29- 3 

10-  2               30- 3 

11- 2 31- 1 

12- 2 32- 1 

13- 2 33- 2 

14- 2 34- 2 

15- 2 35- 1 

16- 2 36- 1 

17- 1 37- 3 

18- 1 38- 3 

19- 1 39- 3 

20- 2 40- 1 

 

 

 

 

 

 

 

 


